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ELECTRONICS

Maximum : 60 Scores
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Cool off time : 15 Minutes

K General Instructions to Candidates : \

afleyodmale: @688 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.
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Answer all questions from 1 to 10.

Each carry one score. (10 x 1 =10)

1. Classify the following into
passive and active components.
(Transistor, Capacitor, Diode,

Resistor)

2. If two resistors R1=100W and
R2=200W are connected in
parallel. Then the effective

resistance become ...............

3. In a P-type semiconductor the

minority charge carriers are .....

4. For a silicon diode, the forward

voltage drop is ............

5. Draw the symbol of the following :
a) PNP Transistor
b) SCR

6. Peak Inverse Voltage (PIV) of a

centre tap full wave rectifier
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7. In three transistor configuration,
which one is commonly used for

amplification?

8. For obtaining sustained
oscillations, which type of

feedback is used in oscillators?

9. Thebase of hexa decimal number

system is ............

10. When a small resistance 1is
connnected in parallel with a

galvanometer, it become an .....

Answer any six questions
from 11 to 17. Each carries two

scores.

11. RC phase shift oscillator

contains 3 RC sections.

a) The phase shift produced by

each RC section is ...........

b) In which mode the
operational amplifier is used

in this circuit?
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12.

13.

14.

15.

16.

17.

Explain the process thermal

runaway.

How a capacitor works as a filter

in filter circuits?

List any two differences

between a BJT and FET.

Draw the V-1 characteristics of

a Zener diode.

Why intrinsic semi conductors
behaves as an insulator at 0° K

temperature?

Find the value of the resistors

having colour code.
a) Red, Black, Yellow, Gold

b) Orange, Blue, Green

K-47

(1)
(1)

12.

13.

14.

15.

16.

17.

FY 31

OmAN@ O6Mag)B af)M  (ad(dlQ

Alu@lee .

adl@dgd MdESISElE Bajomlgd
agieslom@oem’ &0) anl@dgoowly’

(BT BN ).

BJT wjo FET wjo omleygs

a@e@BIE0 2 A®IOMIO ag)PIMIss.

80y eammd wswowle@ V-I

BYOOBSTINIGIBM QUOWHEHs.

ag) (26 &0 6NS06M” 60 i (Wl

O 66 0D AW 'S 0> 0°K
®oalmlalad ommieegd Gowl

B06MEQISIMNE).

80 8O @M1 @186 0M

OMIIAROIBHRINS Melo BrensiallSles)d:.
a) e0W, ROBE), OHWEELD, BB

(1)

b) eocoewl, el ©Iad (1)



Answer any four questions from
18 to 23. Each carries three

scores.

18. Capacitor offers some resistance

to the signal passing through it.

a) Give the equations for
capacitive reactance.

b) Write a short note on any two

types of capacitors.

19. Classify solids on the basis of
energy band diagram. Give two

examples each.

20. Find the relation between a and

b in transistor configurations.

21. Varicap is a voltage controlled

capacitor.
a) Draw the symbol of a varicap.

b) How it acts as a voltage

controlled capacitor?
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22. a) Draw the logic circuit of a
half adder.

b) Give the expression for SUM

and CARRY for the above

circuit.

23. Draw the internal diagram of a

Cathode Ray Tube (CRT).

Answer any four questions
from 24 to 28. Each carries four

scores.

24. Draw the circuit diagram of
Wien Bridge Oscillator. Explain
how it keeps the phase shift 0°

or 360° around the loop.

25. a) Draw the frequency response

curve of a transistor
amplifier.
b) Explain the Band width of an

amplifier.

26. a) Draw the circuit diagram of
bridge rectifier.
b) Explain its working with the

help of output waveform.
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27. a) Write any two differences
between Avalanche
breakdown and Zener
breakdown.

b) How we can utilize the
breakdown action of a Zener

diode in a useful manner?

28. Theinstantanious value of an AC
voltage is given by
V=282 Sin (628¢). Find the
rms value and average value of

the voltage.

Answer any two questions
from 29 to 31. Each carries five

scores.
29. a) State Kirchhoff's voltage law.

b) Find the total resistance of

the given circuit below.

=300
Ry=40£. R
—— = AN
Ko R4= 3000
Rg=304L
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30. a)

b)

31. a)

b)
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How we can made a

transistor operates as a
switch? Explain with the

help of a circuit diagram.

The base emitter voltage in

a cut off region is ........
1) greater than 0.7V
i1) less than 0.7V

iii) equal to 0.7V

iv) cannot be predicted

According to De Morgan's

theorem.

Draw the logic circuit

corresponding to the
equation

Y=AB + BC (B+C).
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(2)

(3)
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